213ss-14 Ruffle Tunic

Suggested yarn:
* Pierrot Yarns Soft Silk Ramie [70% ramie, 30% silk; 514 yds/470m per 3.53 0z./100g cone]; color #18 wild strawberry, 4 cones [325g]

Tools/Notions:

+ 3.0mm (US 2%2) and 4.2mm (approx. US 6) straight knitting needles or sizes necessary to achieve gauge
+ 3.6mm (approx. US 4 or 5) double-pointed knitting needles or size necessary to achieve gauge

* cable needle

Finished measurements:
* bust 89cm/35.04"

* cross back width 35¢cm/13.78"
+ length 65¢m/25.59"

Gauge (10cm/4" square):

* pattern stitch (2 strands of yarn; 4.2mm needles): 22 sts and 30 rows

+ stockinette stitch (2 strands of yarn; 4.2mm needles): 22.5 sts and 30 rows
+ stockinette stitch (1 strand of yarn; 3.0mm needles): 28 sts and 40 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

-------------------------------------------------------------------------------------------------------------------------------------------------------

Knitting Tips
Ruffle (1 strand of yarn): Cast on with long-tail cast-on method. Work 2 rows in garter stitch, then continue in stockinette stitch. On last row, work decreases and bind off. Make 4 ruffles in
total: 2 approximately 8cm/3.15" in length and 2 approximately 10cm/3.94" in length.

Back & front body (2 strands of yarn): Place 2 ruffle layers together, then pick up stitches along their edges. Work in stockinette stitch and pattern stitch. Shape sides where indicated by
working decreases at ends of rows.

Finishing: Seam shoulders with crochet slip stitch seam. Seam sides (including ruffles) with mattress stitch. With 3.6mm needles and 2 strands of yarn, work edging around neckline and
armholes. Bind off in pattern.

Abbreviations:
BO = bind off CO=caston DPNs = double-pointed knitting needles k2tog = knit 2 stitches together knitwise PU = pick up RE = row(s) even
#-#-# = rows-stitches-times

--------------------------------------------------------------------------------------------------------------------------------------------------------
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Pattern stitch

4.2mm needles, 2 strands
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15-st repeat

Ruffle

3.0mm needles, 1 strand
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e Work decreases and bind off.
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